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If a force acted on a body of mass 70 gm to
change its speed from 5 cm/sec to 4.5 km/h in
the same direction,

then the magnitude of the impulse of this

force on the body = ...... dyne.sec
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If the Forces: & s & 5113)
F, =27 -5] +k, F,=1 +2k, LH~PO-FV= 0

cEY"'J = ;’L_)
Tr-Bv- v =0

- .\S.L.. L N
e g

FA3 =21 -7 —3k actona body for% sec.,

then the magnitude of the change in

momentum = ...... kg.m/sec S 0 lie O
where the magnitudes of the forces are in Newton. o /V' S . = 35,21

39 Al (g 531 o
@) 13 ® 6.5 1,0 © v (D
© s @ 9.5 1,0 O o
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Three forces FT , Fj and 1?3 (Newton) T PIPTIIVTRPCH PR IGHY O LK
acted together on a body, if the resulted Ao Y1 oSG e e e (555)

displacement is ?(meter)

AN . Js0= b . o085 ( ) b ds\sdl
andFl,S=5j0ule,F2,S=2joule, R i

MY

F,.S =-4joule e
3. - b

then the work done by the resultant of these ode dlame o Jodealt JaZl Ol
forces = ...... joule. Jg e = g4
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A body of mass 500 gm is let to fall from
a height 0of 490 cm above the ground surface,

then the magnitude of its momentum as it

reached to the ground = ...... kg.m/sec

@) 2450 (b) 2.45
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If the power of a machine 1s 9.8 kilowatt,
then the time needed of this machine to lift
a body of mass 10 kg a distance 100 meter

above the ground surface equals ...... sec
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A particle moves in a straight line such that its
velocity v (m/sec) is given as a function of the
position x (meter) by the relation v = cot(x),

then the acceleration of motion (a) =....... m/sec?

(wherexe]O,%[)
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A smooth ball of mass % kg , is projected
vertically upwards towards a horizontal ceiling
of a room, if the magnitude of its velocity
directly just before the collision is 10 m/sec,
it rebounded directly just after the collision
with a velocity of magnitude 8 m/sec and the
magnitude of the pressure of the ball on the
ceiling = 40.1 Newton,

then the impact (contact) time = ...... sec
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®
A ball of mass 7 kg moves with velocity of | ¢ grue Je 855 V’S VIS 5,8
magnitude 12 m/sec, on a horizontal smooth | &,/ oIV Laylde i e kel 8]

plane, it collided with another ball of mass S"’S o S 6 ,515,50 e
5 kg moves with velocity of magnitude

kf\‘c’ u/r T e, lude As y 35_):>w
6 m/sec in the opposite direction of the first 38 1o olod) Ko b 6 shnd)l o

ball, if the two balls moved after collision as . QJS” 5,531
a‘one body, Aoy a3 ST 5,1 S o131

then the magnitude of the common velocity

3 il &l jlade OB cpalad)
é’/(‘ .......... =¢>\44~A\.\.,.{r.?‘u
@ 2 ® 15 e @ N0
© 45 @ 25 o (3 g0

of this body after collision = ...... m/sec

CCP/0 0 Joll joaJl — s alpol) Gulihl) & A nj




531 301 - VXY /Y0XY oyl el - (A o 1 RSN ctaligll) - (ool 1) Apolalt Bm 0 - ol 2y 3501 Ayl LG B3lg s Gloni

O
In the opposite figure: : il (N B

Py

oo ¥ mlaw
Ground Surface
A body (A) of mass 4 kg fell from a height o V,_{ ¢ alsS () - ez

20 meters above the ground surface at the S ¢ 2 du o8 e Yo g i)

same moment another body (B) of mass 2 kg (o) > e G dbsdl L
projected vertically upwards from a point on the | e dai o LY G, v>5 v ks
ground surface, when the kinetic energy of the | &5 > B wslS Lws s 2! du
first body was 392 joules, the potential energy of | &l <3S (s> ¥av = J¥I V‘“?J\
the second body at this moment was 98 joules, | J s> A = Juss @U\ V‘“?J\ 23
then the vertical distance between the two ezl e &l 1 BLLI QB

bodies at this moment = ...... meters B
® s ® 10 “Q .0
© 15 @ 20 v O
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If a man of mass 75 kg covered a distance s (”5 Vo &S ) tja_g 13|
100 metre ascending an inclined plane which AN e dues G b islo satee

inclines by an angle of sine Y] with the

10 BL 5 s o e & is
horizontal, o OB e &0l
then the change in its potential g e = J=))) °9

energy = ...... joule

@ 750 ® —7350 wo.— @ voo (D)
© 7350 @ -750 vo.— (3) oo @
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The opposite figure: it 1S
v(m/sec) (&rp) &
A L A J
3 4.5) °_ %
: > t(sec) o 1 > (o)
/15 4 { ‘

represents the curve of (velocity-time) graph of

(e = el (Goie it
13 « (s b 3w V‘“"J
s sl sy J M\ By
die ol soe plady 5e(0) datdl
821 Ao OB o+ ¢ 1, 0) Aaidl

a particle moves in a straight line, and the straight
line L touches the curve at the point (4, 5), and if
it cuts the time axis at the point (1.5, 0),

then the acceleration of the motion

m/sec?

b 3

at t = 4 sec equal
®
1
© 3
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3
2
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@
A car of mass (M) tons ascends by its
maximum speed on an inclined plane which

inclines to the horizontal at an angle of

measure 30°, if the magnitude of the force of
the car engine = % of its weight,
then the resistance per each ton

of its weight = ...... kg.wt.

@) 25 (b 250
© 500 @ 1000
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A particle moves from rest in a straight line
with acceleration a = (6t — 9) m/sec? from

a fixed point, then it covers during the first
4 seconds a distance = ...... meter (where t is

the time in second).

@) 8 ® 13.5
© 16 @ 19
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In the opposite figure:

JJW\N\@

‘1009m)

A body of mass 100 gm is placed on a rough
horizontal plane where the coefficient of

the kinetic friction between the body

and the plane = % A
with a light string passing over a small

if the body is connected

smooth pulley fixed at the edge of the plane,
and the other end of the string carries a body
of mass 75 gm. hanging vertically,

then the magnitude of the acceleration of

motion of the system (a) = ...... m/sec?

@) 24 ® 2.6
© 2.8 @ 29

e V4 et
Jolas o (i B (g gns
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In the opposite figure: : il (N B
4AS yonf | ol
direction of
motion

(m+50)) (s0)

Two masses (m+50) gram and (:50) gram afe o (0r + ) LgkS Hlams dﬁ;
hanged from the two ends of a light inelastic | & a2 s 69 L oy o= (0+)

string passing over a smooth pulley, if the 8316 e lde 5,50 e yan 050
system moved from rest and the first body d"” O Sl ye By s gazedll
covered a distance 210 cm in two seconds (sl b =) Blas J NI V“?J\
gthenm=...... gram I =256

@ 12 b 38 @) w (D
© 24 @ 62 LNO, (NS
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In the opposite figure: RUEARCGA[

60 cm

Abody of mass 2 kg is placed at the top of | Jf - V_>5 voaks 2

a rough inclined plane of height 60 cm and o T as\i)) pis Bl g sz

3 .X | . Tl sl (B e b
tangent 1 if the body slides from rest in 2Ol o V“"‘J\ e
the direction of the line of the greatest slope 6 gl Jiuy oo ,ST Las olos
downwards to reach the base of the plane e s 8 gl 5 ) ooy i
with velocity v (m/sec) against a resistance V’S \Y; % el 5 (B/0)

- 1
of magnitude 5 kg.wt per each kg of the ! V“?J\ S e V'?“’/\ 1)
mass of the body, thenv=...... m/sec .

inclines to the horizontal by an angle whose

u/c .......... =tu\:9

@ 1.5 ® 1.3 v © e (D
© 12 @ 14 e (O RO
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@
A body i1s projected with speed 280 cm/sec
upwards an inclined rough plane which

inclines by an angle of measure 0 to the
horizontal where sin 0 =% 5

if the coefficient of the kinetic friction
between the body and the plane = % ,

then the covered distance until the body rests

instantaneously = ...... cm
@) 35 ® 70
© 7 @ 140

u/r\’/\ L@)\J.EA g&J.w.s V“o- 243
A e oo 5 Pl 6 s JeY
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The opposite figure represents two bodies RUEAINUG-A
of masses 4 kg and 10 kg are connected ) V’S Voo V"S ¢ lglS Olws

by a light an inelastic string are placed as Qe b i hado OMats
shown in the figure. if the plane is smooth OB 13] (AL LS ellde 3,55 e
and inclines to the horizontal with an angle | a3 Jle jos el g5l

whose cosine equals 4 , ¢ % ol Lalsd o &5l 5
, then the acceleration of motion of the -SSP | S YO S PSR
system (a) =...... m/sec? Jé [ e = (=)

@ 0.7 ® 2.8 A © v D
© 14 @ 14 e O e &
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©®
A man of mass 60 kg. stands on a pressure | 4l Jo S"’S Te adS oy B
scale inside a lift, the lift started to move oy cmas duo)l e ¢ 525

upwards with a uniform acceleration of Usns J&Y 201 3 danadl
magnitude1.96 m/sec? a distance 2 meter, Ble vd’/f\ LA aylade delanie

then with a uniform deceleration a distance | ksl 0 23ls vh...a JOwTS V’ ¢ %o ¥

5 meter until it rests. O s
find the pressure of the man on the scale | o5 34B e Jo I o> ool
during moving the lift with uniform - KGO IS (V"S &) Bl g
deceleration in kg.wt. S‘L““" a3l
&
If the work done in joule by a machine J529b Jsd— b Jsadl o8 130
during the time interval t € [0, 120] is given | dioe) 3,3 M > AT dadls
as a function of the time (t) seconds by the BEREYS
' _3e_Llp " U
relation w = 3t 60t 3 LG (V) gl B DS Jaa
then find the maximum power of this Yo _% ~ YooY o s B
machine in watt. Sl PL DY 0y 3)u8 bl ol
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